BRARE=FVTRE(FRFE

(5F5E7H138~9A827BEM)

£170ED) R

RF A KE B3 AR (EHRVE)
BERKEARAR (RFHYD

TR ERAENE (U Sv/h)

s = RE-BES
No | ETH R4 SRS T BZ | mems EF haia (- 4180 T 1918) e
5@ %16@ 4@ %16@ 4@ F16@
FERR | HERE | HERE | PERE | HERE | HERR
_ 50cm 0.06 0.07 0.07 0.08 0.07 0.08
1098| =BT REE ZERER 9A48
1m 0.07 0.08 0.07 0.07 0.07 0.07
50cm 0.09 0.09 0.08 0.09 )
1099 | Z=EBHT INERR ZBEIL = B/NER 9R4H EFERBEOMEN =, REODHAE
1m 0.08 0.10 0.09 0.09
50cm 0.08 0.07 0.06 0.08 0.09 0.09
1100| Z=BHT el a5 Z BRI =Btk 9A4H
1m 0.08 0.08 0.06 0.07 0.09 0.09

X IE16EAERRILE. T

1/1

MAE8A4ANSL9A15HICEELI-MEERRERFARE=FI VAR (EREE16E) I THAERER. TOMIZTOVTIE. HEMICEHT 5,




